Math 30 Final Exam
Spring 2006
Name _______________________________


Always show enough work to show how you arrived at your answer.  If work is not shown, you may not earn full credit for the problem.  The point value of each problem is given on the right.

NOTE: Round decimal answers to 4 decimal places.  Reduce fractions.

1.
Complete the following chart:
(4 points)

	Set Notation
	Interval Notation
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Use the graph of 
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 shown below to answer the following. 

(3 points each)
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a.
Range of f  ________________________


b.
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c. This function is NOT continuous at
x = ____________.


d.

[image: image6.wmf]»

-

¢

)

2

(

f

 __________


e.
This function is concave down on 


the interval _______________________.
3.
Find 
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4.
Let  
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a.
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 = __________
(2 pts)


b.
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5.
Use a table to find 
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(6 pts)
	
	

	
	

	
	

	
	

	
	

	
	




[image: image12.wmf](

)

1

0

lim12

x

x

x

+

®

-

 = _______________

6.
Find the derivative of each function.  Simplify answers.
(5 points each)


a.
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b.
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7.
Find the derivative of each function.  It is NOT necessary to simplify answers, but use parentheses correctly.  

(5 points each)


a.
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c.

[image: image17.wmf])

ln(

2

x

x

y

+

=



d.

[image: image18.wmf]2

3

x

ye

-

=


 [20]

8.
Let 
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a.
Find all the critical numbers for 
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(6 pts)

b.
Find all points of inflection for 
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Give both x and y coordinates

c.

Sketch the graph of 
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, showing inflections points and the relative maximum or minimum.

(4 pts)




d.
Find the absolute maximum and minimum values for 
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 on the interval [-1, 1].
(4 pts)





________________________




absolute maximum value-





________________________




absolute minimum value-
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9.
The ABC Company sells cars.  It costs the company $10,500 to produce each car, plus the fixed costs are $20,000.  The company’s price function is 
[image: image24.wmf]()21,00070
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, where 
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is the price at which x cars will be sold.  
(8 points each)


a.
How many cars should be produced to maximize revenue?


b.
At what price should the cars be sold to maximize profit?
10.
Money is invested at an annual interest rate of 5% compounded quarterly.  If $100,000 is invested today, when will it be worth $200,000?  
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(6 points)
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11.
A spherical balloon is being inflated at the rate of 5 cubic inches per second.  At what rate is the radius changing when the radius is 2 inches?  (
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(6 points)

12.
Find the derivative with respect to x, 
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(8 points)
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13.
Find the antiderivative for each function.
(5 points each)
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14.
Find the antiderivative for each function.
(5 points each)
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15.
A company’s marginal cost function is 
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, where x is the number of units sold.  Assuming the fixed cost is $1000, find the cost 100 units are produced.  
(9 points)
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16.
Estimate 
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 using the graph shown and four left rectangles.  
(6 points)


17.
Find the value of each definite integral.
(6 points each)
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If you’d like your grade posted by your own private code on the outside door to the building, please give the code to be used:


____________________


If no code is given, your grade will NOT be posted. 


 I’ll send your grade by e-mail if you send an e-mail request to me at dhawkes@solano.edu
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